Al = 0l & AFE B Al A

2023 =0llat LB D=0l akA

S HPIE TSN

IS XN (L STHE/ULIHE)
AlSEDI= (Etel: F2)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
Al 20,397,582 8,974,903 11,422,679
Al 18,985,582
CH 1,412,000
JIEZE (LS SHT/YEHT) 516,100 325,070 191,030
NESSSIE 486,100 310,070 176,030
PJEEES] 344,000 229,000 115,000
201 LEH2 %] 47,000 22,000 25,000
01 A2z 47,000 22,000 25,000
OAFYREDIN R0
2,000,00024 %43 8,000
OFQAIF(SUAIY) LB IA R0
14,0002 x200+53 14,000
O22Y AlgEZ % LK (IIX)
12,500,0002%14] 12,500
O22Y AL Z A2 LStUF(AEH
12,500,0002%14] 12,500
203 22| 7,000 7,000 0
03 Al FZALFZ 7,000 7,000 0
OARL= ARF2 2,500,000 %1 Al 2,500
OAEY 2 2,500,00024% 14! 2,500
OZAER =& 1,500,000 * 14! 1,500
O XE gRF 500, 0002 *1 A 500
207 AN 290,000 200,000 90,000
01 einga| 240,000 200,000 40,000
OHRIAY S FRAIM =T
200,000,0002* 14! 200,000
OgFAl HEAM HY S
40,000,000 %14} 40,000
02 FADHLH] 50,000 0 50,000
OZFAl FLAIY Z2IAAY 2=
50,000, 00024 * 14! 50,000
L 74,200 52,750 21,450
201 YEr2 %] 74,200 52,750 21,450
01 A2 74,200 52,750 21,450
OFQAIBAIN T} RI=
20,0002+ 1,200 24,000
OXel 28 LE M
14,500 1,600 23,200
OHYBE M(N2LE, =S, ASH
HolA S) 2,000,00021+35 6,000
OUE ME E2(2IBH, ZAH HE S)
1,000,00024* 14! 1,000
OAIFEA 22H2021H~2022EH)
20,000,000 * 14! 20,000
R 17,900 8,320 9,580
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S HPIE TSN
HE: MUY (UNDIUN/LBHE)
PN

=aak %53_@ T (CHl: X 21)
SA - A SR(B) - AIRAIY - BAS o v ] bl D2
HOHHE 2% 9,100 9,100
201 L2 500 500 0
01 AF22t2IHI 500 500 0
OOt ME B2(84Y, IAH ME S)
500,000 * 14! 500
301 YBEAZ 3,600 3,600
14 JIEIEAS 3,600 3,600 0
OAIBIHIoH ATt A& 3,600
—E| 44 700,0002*1H*13] 700
— A 500,000 *22 13 1,000
—&dd 300,000*32 13 900
—E=TE 100,0002+102 138 1,000
303 A2 5,000 5,000 0
01 ZAZ 5,000 5,000
OZ2AMet 24 AlMZ S
5,000,0002 % 14! 5,000
OlAt2 Y (LB BA/XIUEH - THEXIH) 418,042 518,488 A100,446
oo 300,522 404,218 A 103,696
OlarEY 9 29 272,79 382,248 A109,456
201 L2 A 162,890 158,033 4,857
01 AFR2t2IHI 152,630 155,753 N3,123
OuatE S 29)|E K0l
20,0002% 1005 2,000
OolatEA DX K0
20,0002 %1005 2,000
O0flAtEA 2Ha K01 20,0002*1005 2,000
OuWlAEA ZAHI 8,000 xS x50 2,400
Oujlak(eH) R0l 30, 000 *5Z+1002%4 3] 60,000
O=20AN K01(25) 150,000 %1002 15,000
OSMAHEAN R01(23])
100,0002* 1705 17,000
(@F=JeIPNI\ FyS el 100,000 %100 10,000
OFZ GIAN R01(2E)
50,0004+ 10052+33] 15,000
OBIIXLMEHE g0
20,0002 %1005 2,000
Ooflar2ted Q3| &AM gt
70,0002 *7IH 2| 24 3|9 33 13,230
OXgte =z Z2lXIE |0l
7,000,000 %13 7,000
OXgex=2 zelns
5,000,000 * 14! 5,000
02 232%H| 10,260 2,280 7.980
OMBEHBZNAIAL SR B4
855,000 * 12 10,260




SA D0 Ata
I (ALY (LT /LY - HEXIR)
el flatE S (Crel: &)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
204 X2 AHH| 12,600 12,600
03 SHAR | 12,600 12,600 0
O Fa=g=s=Er] 150, 000 x7H* 12 12,600
301 LBtEAS 30,000 100,000 A70,000
14 J|EtE A2 30,000 100,000 70,000
OXNLEXEZ 2F43 4D NS
30,000,000 * 14l 30,000
303 ZA3 10,000 10,000
01 Z&3 10,000 0 10,000
OAISZER =X LA AlAZ
10,000,000 % 14! 10,000
403 THXISHHIS K20/ ™ 57,302 111,615 A54,313
02 2I|2SOICHEHRHE X SIEFAFIHI 57,302 111,615 A54,313
OXHAITH XILTHEZI2IAI AR 25
57,302,0002 %14l 57,302
FOIEOOIAKIRY 27,730 21,970 5,760
201 LB 16,530 11,530 5,000
01 AlR2t2|H 16,530 11,530 5,000
OFDIEOOI AR | BT
70,00021%3324+33] 6,930
OFDIEO0IMRIRE ATt K0!
30,0002 *402*33 3,600
OFIEAHM AW 5,000,000 %Al 5,000
OF2IE00IM S22 M
1,000,000 %14l 1,000
301 LBtEA 3 11,200 10,440 760
11 ALK 2 8,600 8,340 260
OFLIEO0I0Ar XIXE|2] EHATE 24
8,600,000 % 14| 8,600
14 JIEtE A3 2,600 2,100 500
OFLIEO00A R4 HIQH Al& 1,600
—Hel 200,000 x4 800
—SHE X239 400,0002 %204 2 800
OFLIEO00A RIS H RO I[EE
10,0002+ 100213 1,000
Z=3HI2Y 117,520 114,270 3,250
FRAIE H2XA 48,320 48,320 0
202 OFH| 4,320 4,320 0
NIENCED 4,320 4,320 0
OFQI|2 U248 (SAIH)
90,0004 <2 %22 %122 4,320
203 LRI 44,000 44,000
03 AIZHFRIADEZIY| 44,000 44,000
OFQAIE SOAIY =X
9,000,000 % 14| 9,000




S HPIE TSN
HE: A2 (LUDIYT/NLHT - HEX)

el SS3HIRE (Crel: &)
S - B - ORI(3]H) - HISAR - BaS 01l kot ] HIDE2
OXIGIHEAMS =& 9,000,000 %1 Al 9,000
OSIIAS B0 L RS XA
7,000,000 % 14! 7,000
OZAMASE AL
7,000,000 % 14! 7,000
OZTEAY F=X 7,000,000 %14l 7,000
Odtel L 817 243 AtY =3
3,000,0002 % 14! 3,000
OLSHE 2 Al =
2,000,0002 % 14! 2,000
ZEA2X 69,200 65,950 3,250
201 L2 26,000 22,750 3,250
01 AF222IHI 26,000 22,750 3,250
OF QAT =2 SHHI(ASSHUSA
8,000 * 150 x5 13 6,000
TQAE =X SEHI(HWH=RED}
8,00024+3002x43 9,600
OFQAIE =2 SH(sELES)|)
8,00021%5002x23] 8,000
OFQAIE X SHHI(ASITSA
,0002!* 150 *23| 2,400
202 O] 43,200 43,200
EXGE 43,200 43,200 0
OFQAIE F=7 BS0H|
90,0002 *20Hx2U* 122 43,200
LAY (UBIS 3 H /L) 74,540 67,165 7.375
AR 74,540 67,165 7.375
22AIS 14,320 15,520 AT1,200
201 L2 A 6,120 7,320 AT1,200
01 AFR2t2IHI 6,120 6,120 0
O2AL 2t MAl L 247} Do
30,000%22 60
OLAIIR X 24 AIR2E 2
400,000 %1 4! 400
OBU2AIZ 5o BA gt
70,0002 19 %23 2,660
OLANXESERE E2S HIE
3,000,0002* 14! 3,000
204 Z2LAH| 7,200 7,200 0
03 SHARHHI 7,200 7,200
O2AIRID LS|
100,000 *6 %+ 122 7,200
303 ZAZ 1,000 1,000 0
01 ZAZ 1,000 1,000 0
O2A 24228 AINE P
100,00084%10% 1,000




2 D=0 ArAl

M UARY (LIS /UBEE)

o9l AN (Col:aal)
SA - A SR(B) - AIRAIY - BAS o v ] bl D2
ZATE THAISS 1,300 1,300

201 LB 1,300 1,300 0
01 AF22t2IHI 1,300 1,300 0
OMAEE 28I HEMZ A Holol ¢
2|8 2,00024100 200
O2ET HASE AREX AIRERE ¢
400,000 %14l 400
OZ=I 223 22 & &g
70,0002 x5 *23] 700
IWREH ZEITA 2 58,920 50,345 8,575
201 L2 A 37.272 37,272 0
01 AlR2r2lH] 37.272 37,272 0
Oy DOIADAIAE S22
5,000,000 * 14! 5,000
OXUSE FHELE NF
4,000,0002* 14! 4,000
Ozel Haus =8 1,272
—2AE(13)
250,000 % 121 A|2H23] 500
—2A ZDAIRE BASE(13)
120,000 * 1% 1AI2H23] 240
—2AF AIZIE ARG
120,000+ 12413 120
—2A 202 X3
13,0002 % 1204+23] 312
—2ZA O8I 100,000+ 1213 100
OFEE Al XDI8tS AIAEI(SCLS) 2% 29
11,000,0002 % 14! 11,000
OXHHl YT =7 H2XA 2
16,000,000 * 14! 16,000
301 YB3 10,000 2,100 7,900
14 J|EI2A S 10,000 2,100 7,900
OZ=2g 2Xp| AD BA2
10,000,000 * 14! 10,000
308 XXIEHHISOIA 11,648 10,973 675
11 21 2ASOICHEHEZ A E IE AL 11,648 10,973 675
OFU-gA|AE SAZE|(B2XARBIHU)
11,648,0002 % 14! 11,648
NI === PSP ETETE e 163,780 142,280 21,500
FZp! 1,980 1,980 0
RS =37 1,980 1,980 0
201 LB 1,980 1,980 0
01 AF22t2IHI 1,980 1,980 0
ORMINE 2218 R0
1,000,0002* 14! 1,000




SA JI=0lara
I NRYY (LS BSTHY/ULrHN)
chel: O} (Colad)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
OAMINSERIRS] 32 &M +E
70,00024%7 H*23) 980
oBIXE ¥ XXIYY 161,800 140,300 21,500
BEWNE 16,500 16,500 0
201 LEH2 Y| 16,500 16,500 0
01 AL 22| 16,500 16,500 0
023 =2 21A K0
5,500,000 %23 11,000
023 HHARZA X2 R0
5,500,000 %13 5,500
XX o Az X 145,300 123,800 21,500
201 LEH2 Y| 145,300 123,800 21,500
01 ALR2H2IH] 145,300 123,800 21,500
OYeiXle HEME MX |0l
3,5002%1,0008 3,500
OLSSI ZAS 600,0002% 102 6,000
OLNRHSAM =g 300,000 1 *12€ 3,600
OHBAILAR L 45442
2,200,00094 %4524 99,000
09! - 5101 & 0I4IE HEAE K22
1,100,00024%1024 11,000
OZRZRARA ASHIZX
10,000, 00024 *24! 20,000
OHEXIE T A AAE 0182
100,000 %122 1,200
OHERR 218 A 72
500,000 14! 500
OA3UE AT NS ARSE 2L
500,000 214! 500
HHRLBHI(II=0I ) (D1EHJIEN 253,418 177,300 76,118
ol 2| 73,718 0 73,718
RIEEETT 73,718 0 73,718
101 Q124H] 69,518 0 69,518
02 JIEHEES 69,518 0 69,518
OHEHSH(AIFESTMAIIH JI2) 69,518
—gs 63,939, 7202 * 12+35/40n 55,948
—AI2tQI%g
14, 446211 Z*10A1 2t 128 1,734
=] 140,000+ 1% 122 1,680
— iDL A
4,662, 7202 x84%+86%+ 1/30%1/7+84n 1,348
— S22 223,790 1H+ 122 2,686
== (OIEDS)
20,0002 *x2%* 122 480
—500iE 470, 1602*12& 5,642
204 ZRLHAY] 4,200 0 4,200




A JIEI0 A
M HN2AAHI(OI=0AA) (DIEHDIED
s 1523 (CHl: X 21)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
02 322 2H| 4,200 0 4,200
OHEM2(ARIEERMAIIM It=z) A=22
400,000 *1*35/40h*12& 4,200
JlE2Zzl 179,700 177,300 2,400
J|=23Hl 179,700 177,300 2,400
201 2BH23d| 29,520 27,120 2,400
01 A=R2t2(d] 29,520 27,120 2,400
O=AMEX 7 20,000 %208t Ax 122 4,800
OS20hAalbl 8,000 *6Ax20 T * 128 11,520
Otz 100,000 %12 1,200
OARZ2 TN 50,000+ 122 600
OArE 4| 10,200
—SADI(HE) =2l 1,000, 0004 *2CH 2,000
—Z2IED| el 100, 000 *4CH*50/ 100 200
—=SAI EY 200,000& *53|*2CH 2,000
—HZgIH EL(SY)
200,000 x53|*4CH 4,000
—IRIE EH(Z2)
200,000 %53+ 1CH 1,000
—PC =cl 100,0002%20CH*20/100 400
—JIE 2218 50,0002+ 12 600
OJIEF AFR2t2l8| 5,000R+202 122 1,200
202 44| 82,080 82,080 0
01 =LHO4H| 82,080 82,080
O2LH 04| 20,0002 x20%* 122 * 122 57,600
O22| 04| 90,0002 +20 %412 21,600
OHEEHH REX o]
20,0003« 1H =122 12& 2,880
203 LRF=&| 59,700 59,700 0
01 J|2A2FHRFAH| 56,100 56,100
OFAIE J|A2HHREEY
56,100,0002 =1 56,100
04 EM2ILRFEI 3,600 3,600 0
ORA2IHRFAI 300,0002 %12 3,600
204 HRgAY| 8,400 8,400 0
01 MMz HR+HAI 8,400 8,400
O Z RSB A| 8,400
SAIE 600,000+ 112 7,200
D20l Ata & 100,000/ 12 x12& 1,200
algiglcoigigl/ogigl) 18,947,002 7,730,500 11,216,502
Al 17,535,002
CH 1,412,000
:|1s]}s]l 18,947,002 7,730,500 11,216,502




2A:

X XH -
(=

JI=l0llatAl

GilHIHIColBIH]/GEIE])

= R == ] (crel: M)
A EH - SRI(E) - KIRAY - BAS ol v ] HIDE2
Al 17,535,002
CH 1,412,000
oliglsl 18,947,002 7,730,500 11,216,502
Al 17,535,002
CH 1,412,000
801 oflHl8l 18,947,002 7,730,500 11,216,502
Al 17,535,002
CH 1,412,000
01 2toiibl8l 5,000,000 2,000,000 3,000,000
OQESIH Lol
5,000,000,000& *14] 5,000,000
02 XHoHl - JH=t=ZA0dld] 4,958,072 4,000,000 958,072
OB Al Mol - THt=Z 0]
4,958,072,000& 14! 4,958,072
03 WE=E= 8,988,930 1,730,500 7,258,430
OgEAl WRERE=
8,988,930, 000 14! 8,988,930
Al 7,576,930
CH 1,412,000




